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SN B2
HE: LB YA (AUDTHE /A HE)
& FESAY emet 25 (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OAN & ZEH ®XHl 219,306
—ALL-IP QIHY &S SAE >
246,930,944 * 8/100 19,755
—UHE/IZCIANLAERANE S
24,900,000 * 8/100 1,992
—FESA4YEH FANE+
(470,538,345 * 8/100)+ (54,140,000 » 8/1 39,809
00 * 6/12)
—SEXNFRHSAY 22 RAES 4,024
DI (570H) 50,297,000 = 8/100 4,024
— GQAUJYANAEH RANES
42,827,600 * 8/100 3,427
— SOt ALY RS 47,379
- H/W 423,747,327 * 8/100 33,900
- S/W 89,858,500 * 15/100 13,479
— R4l BOAIAEH RXE S
47,000,000 * 8/100 3,760
—AUHEZAE SXE=S 50,000
- M2 4l 50,000,000 = 3/10 15,000
- =24 50,000,000 = 7/10 35,000
— HYUESHH AL+
128,200,000 * 8/100 10,256
—ZSHANE RIS 29,157
FEH~-zgt 9,489,000 * 8/100 760
dotH~do T A2t 16,960,000 * 8/100 1,357
- JFE RO 2t 338,000,000 * 8/100 27,040
—HOE AHSAAE RAE
115,008, 876 * 8/100 * 7/12 5,368
— SdA 22 FH(E25I1,0pPS, 0012 S)
S8+ 54,729,000 * 8/100 4,379
FESAY It &= 50,000 283,000 A 233,000
206 M= Hl 50,000 10,000 40,000
01 =8l 50,000 10,000 40,000
OZS8 AR A UPS HHE 2 50,000,000 50,000
HE2H XA 425,436 712,622 A 287,186
288 KA 266,390 198,650 67,740
201 Let24d] 208,170 184,890 23,280
01 At 22l 150,390 128,910 21,480
Ogpt=&H| 41,390
— g3y 337 80,000 * 2& * 43| 640
—gas F32 ME 100,000 * 12& 1,200
—g&a oA =2 150,000 * 1CH 150
— g3y BN 2B 500,000 500




SN B2
HE: NYHY YA (AYUDTHY /A HT)
ool HI2Y X (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
— HALAIR A BIXIE ¥ OotLH&
3,000,000 » 35 9,000
—Zd83s #% ME 10,000,000 10,000
— 24530 & D201 HEH 500,000 500
— B2 M 3,000,000 3,000
—2YY S A B M
70,000 * 15004 = 103 10,500
— a2 a Xt 2 Xt 18,000 * 504 900
—JIEt =&Yl 5,000,000 5,000
(@RTE==3] 1,200
— OtHLjA 2RE=E 100,000 * 3Y x 43| 1,200
OF === 107,800
— =&Y 50,000 * 4% * 365 73,000
— 2 &Y 50,000 » 69 *» 116 34,800
02 352494l 57,780 55,980 1,800
OAl& & Hl s XYl 57,780
—CCTV RN 2= 60,000 * 4404 = 12& 31,680
— 2Ol HHIAIAE S22
1,600,000 = 12& 19,200
— ZXU22AAE SIES
25,000 * 230H = 12& 6,900
202 04| 11,310 11,310 0
01 2LHOHI 11,310 11,310 0
OS2 M AFE O HI 30,000 * 1 * 249 7,470
O=s2&8a3 0l 20,000 * 49 x 42 x 12& 3,840
405 XtabF SHI 46,910 2,450 44,460
01 AL 2B F SHI 46,910 2,450 44,460
O2 X+ 180,000 = 54 900
O 4 250,000 * 54 1,250
O2gER () 300,000 * 1JH 300
Ozlog =% PC 1,370,000 * 28CH 38,360
O4a3oa HIORXEZHE Wi 5,000,000 5,000
OXNRAAMI(EZ2ESH HI1a) Y
1,100,000 1,100
= 2y 159,046 513,972 A 354,926
201 LEt2 Y| 59,606 82,532 N 22,926
01 AP 2t2l bl 10,406 9,426 980
Ogt2H| 7,914
— Z2AEX 25,300 * 208tA * 33| 1,518
— gt ErA 30,000 = 30= 900
—TEE El 338,000 * 40§ = 33 4,056
— SAI EY 220,000 = 14 = 23 440
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HE: YT AYYSH(AUDTDYT/YUHE)
Sl BHSY N CERED
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
— UBIANREE 1,000,000 1,000
SR 1,512
—IISBAREF(OIA2LX S) SAY|
7,000 » 3H » 6 » 128 1,512
O2g+g 980
~HHNERNNOAAAE HALY
70,000 = 3 * 43| 840
—JIS 2N BHLY
70,000 * 2% = 13 140
02 2324l 49,200 73,106 A 23,906
Oz22= & HA 39,600
—SNLEE RERS 39,600,000 39,600
OAl&ZEHl s X bl 9,600
— RoZHANAYE SX2+ 450,000 = 128 5,400
— SREZDOAIAE |SX2+ 350,000 ~ 128 4,200
202 04l 1,440 1,440 0
01 = LH 4 Hi 1,440 1,440 0
OJIEE AHEZ (Yl
20,000 = 3F * 2& » 12& 1,440
207 S 51 OH £l 98,000 0 98,000
01 2284 98,000 0 98,000
O&EXIIEE 0l 2ALY 98,000, 000 98,000
FONX L e NIy 243(Les33TY/Yurdl 596,700 809, 150 A 212,450
a)
XX 2435t 419,100 419,100 0
FOURMXNEEH 29 419,100 419,100 0
201 L2l 156,000 156,000 0
01 At 22l 108,000 108,000 0
Oget=&H| 54,000
—FUNXNEYH =208 29 54,000
SRR AAX et
1,500,000 » 6JH=SH * 23| 18,000
ZUNAME LE 2
500,000 » 6HS S » 12& 36,000
o2g+g 54,000
— FUNXRAH TS =
30,000 » 259 * BIHS S * 123 54,000
03 A2 S HI 48,000 48,000 0
OFeUXNXNZZ20d LHS
2,500,000 » 6IHSH * 23] 30,000
OFLUXXEs A3AE 9,000,000 * 23] 18,000
301 et d = 263,100 263,100 0
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L= B

el

A A O

St
BIXR ¥ e WREY 43 (LSS AE /et
QXX 243

SA - BB (BH) - MEAMY - BYS ofl &t o SSa HDE2
09 HAIAHI EA =S 20,000 20,000 0
ON=ZF0IXX &3] = 10,000,000 10,000
OFUXXHEH R==0tcltial &It
2,000,000 * 23] 4,000
OFUXX|E X0 40,000 *» 150H 6,000
11 IIEtE A2 243,100 243,100 0
OF0XXAHEH T2 29 LZAIS
30,000 * 10 = 65 = 11AI2F x 12& 237,600
OR% FOXXIHEE Al 4,000,000 4,000
ORxZ=z)d 29 QdEE
500,000 * 3JHAIEH 1,500
nEEs 243 177,600 390,050 A 212,450
SZYEUHERKAD 2= 177,600 390, 050 N212,450
201 et A H| 66,600 39, 100 27,500
01 At 22l ] 25,600 22,100 3,500
Ogbt=2H| 21,100
— 30 & 70,000 = 10& 700
—E8=2 1,000,000 = 53] 5,000
— AT (- H2) 1,000 = 1,0000H 1,000
— KFOHEE A A& HE&
50,000 * BIHE= Al * 33| 900
— KHOH = Al D] HI & 20,000 * 5004 = 33/ 3,000
—=2HNE S9= 500,000 * 33 * 5& 7,500
—EB=2 BHE=2 1,000,000 * 33 3,000
Oexts 4,500
— NOHEA 232 I Xt
500,000 * 33| = 3L 4,500
02 3524t 5,000 5,000 0
OZ2Z2Z2YAHA 5,000
—AZF 2HE Ne)s 8242 5,000,000 5,000
03 A2 EH| 36,000 12,000 24,000
OXOHEA =8 A & UXNHAE 4SS
24,000,000 24,000
OXNUMEA 2t S53 DEHAH(AZZNE)
12,000,000 12,000
202 04d| 60,000 60,000 0
03 =L R0H| 60,000 60,000 0
O=2Hungs =& 60,000,000 60,000
203 ¥R =AY 15,000 13,950 1,050
03 A =X AR = XIH| 15,000 13,950 1,050
OZ2UHAuWE A =X (H) 15,000,000 15,000
301 LerE A3 36,000 266,000 £230,000
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HE: DHHHBR(LHIBHT/YBULABR)
el B AL CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— &Hl & #AlE 233,250,000 233,250
— 23 A5ZH 18,694,000 18,694
—2&U S 696,400,000 696,400
HYSHAH (SR 2)(IIEHIIE) 6,697,217 41,162,578 A 34,465,361
lHARAH(BZ) 6,601,667 40,997,124 A 34,395,457
olz 2oy 6,601,667 40,997, 124 34,395,457
101 @124 dl 350,000 33,599, 586 A 33,249,586
02 JIEtE B == 50,000 2,889,310 22,839,310
OAIZEM A= &2 Z 50,000,000 50,000
03 RIHAZZHE =+ 300,000 2,805,188 A 2,505,188
SIASE 22X EAE 4= 300,000,000 300,000
303 L&t 3 1,300,000 1,220,000 80,000
02 da0= 1,300,000 1,220,000 80,000
OdMaN= 1,300,000, 000 1,300,000
04 HIRESS 4,951,667 5,220,418 A 268,751
01 H32E= 4,951,667 4,190, 102 761,565
O¢=sRE= 4,951,667,000 4,951,667
Jl2ZdH(521) 95,550 165,454 A 69,904
Jl2234 95,550 165,454 A 69,904
201 Let24d] 40,186 39,686 500
01 At 22l 40,186 39,686 500
O+t 25,186
— SAEX 25,300 * 308fA x 53] 3,795
—SNEELR 60,000 = 30x 1,800
— SAI =2l 250,000 * 43| 1,000
— =AM EU 220,000 * 83l 1,760
— WA EY 114,500 * 63l 687
—mA CH 240,000 * 43| 960
—ZEE EU 338,000 » 6CH * 33l 6,084
— D2 E &¥ 1,400,000 1,400
— UBIAIR ES 2,000,000 2,000
—ARY 2 HIS (2, 224)
4,000,000 4,000
-GN 7Y 100,000 * 123l 1,200
—ZtZelHl B&=+d 500,000 500
o=l 15,000
— A2 2 X E20H4lHI 15,000,000 15,000
202 Odl 31,104 33,408 22,304
01 = LH 4 Hi 31,104 33,408 A2,304
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M M
M pHols HEYS AN (LYUDDU/YUHE)
Sel: ENYRo Sy B CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
- SE(aE) 253,000 = 1304 3,289
E2x(H&R) 2,410,000 = 30K 7,230
Ex (2S84 1) 583,000 * 2CH 1,166
SEX(E2HFH A 1,650,000 * 3CH 4,950
S (FHI R 50H) 880,000 * 40K 3,520
- 0IE Xt 110,000 * 2CH 220
-~ NSHFIBAR L 442
77,000 * 83O 6,391
-V NEE(2.8Y)
400,000 * 32H = 13l 12,800
—REMTHINLRLS
120,000 » 520H * 23] 12,480
—HMUBEE 17,568
SE(HE) 119,900 * 2CH 240
sE(F&8) 110,000 * 18CH 1,980
SE(2E) 110,000 * 10CH 1,100
S8(38) 110,000 * 15CH 1,650
SE(HE) 335,000 * 1CH 335
SE(EE) 335,000 = 2CH 670
SE(AE) 264,000 * 6CH 1,584
st (HE) 594,000 = 30K 1,782
s2(58) 297,000  8CH 2,376
-S2(2E) 165,000 * 13CH 2,145
SEx(ME S2HEL RS B+12)
242,000 = 70K 1,694
S (FHSEX 500) 330,000 = 5CH 1,650
- 0lE Xt 181,000 * 2CH 362
OA& &l sl 3,000
—=ZLZ0Y RIE+ 2,000,000 2,000
—NAHERAE 1,000,000 1,000
OXtg & et 714,074
—s8(HE) 16,340,000 * 2CH 32,680
-3E(#58) 7,770,000 = 18CH 139,860
—5&(1¥) 7,802,000 = 10CH 78,020
—58(3¥) 7,802,000 = 150K 117,030
—SE(HE) 12,312,000 = 1CH 12,312
- S8 (E¥) 9,094,000 » 2CH 18,188
—SE(AE) 7,294,000 = 60K 43,764
—S2(UHE-Z28%) 15,020,000 * 3CH 45,060
—SIE(FE-AMEE) 9,489,000 » 504 47,445
—S2(28-MNEE) 7,893,000  11CH 86,823
—SI(EAX) 11,271,000 * 2CH 22,542
— S (0lS+2lX) 8,757,000 » 2CH 17,514
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B Hols ¥HUS NN (AUDIHI /YY)
Sel: ENYRo Sy B (el:de)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— SE+X(IIETAIE &) 7,548,000 = 704 52,836
202 44l 4,800 4,320 480
01 = LH o4 1l 4,800 4,320 480
O2EXEIIAL (bl
10,000 » 4H » 10 » 128 4,800
405 TtHabF S| 386,000 604,000 A218,000
01 AL EFH S 386,000 604,000 218,000
OSEZ=203 20H(5M) 1,200,000 * 5CH 6,000
OXNESEX 28 (T AL, B2 -4A17)
25,000,000 = 2CH 50,000
OXESEX 45 (HEWEW-4F)
30,000,000 = 1CH 30,000
OXNSESER (AT, &St S AL A-THAI)
25,000,000 = 2CH 50,000
OA2EIEXN(1E4E/E8Y, S H-UHA)
20,000,000 = 2CH 40,000
OS&XHBAX,BE MNEZ/HEH AH G
-0 Al 65,000,000 = 3CH 195,000
OAE SEX(FUXFA-4F) 15,000, 000 15,000
SAHME =& 115,780 92,110 23,670
201 L2l 87,100 72,600 14,500
01 At 22l 65,500 64,500 1,000
Oget=&H| 45,300
—SARISANE AN 7L
10,000 = 2005 2,000
—=AR)] 13T WEEDA
20,000 = 1205 2,400
—SARISHEMN 22 (SSIH A
20,000, 000 20,000
—GB(xE) =22 20,000 = 400A 8,000
—Z4N S0 130,000 = 505 6,500
— 3 AHAMA R0l 2,000,000 2,000
— SR 2 2,000,000 2,000
—XNESYAH BHEZE2E 2L 1,000,000 1,000
— AL ARAS HAMXEE 200,000 * 23] 400
—SHEEXN & SAYEE 2 1,000,000 1,000
ozg=¢ 14,200
—HAY RS2 =& 70,000 * 6F * 102 4,200
—ZUANRIY 24 Y 10,000
J2 70,000 » 5H » 20 7,000
=t 30,000 » 5% » 20 3,000
O=gtl 6,000
—SAHYR 3,000,000 3,000




2N

=R

M pHols HEYS AN (LYUDDU/YUHE)
Sel YR SYN CERED
SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
— PP 3,000,000 3,000
02 =294l 21,600 8,100 13,500
OZ2Z22Y Al 15,000
—JAHASEAB R NEBSEEZ(2,8H)
15,000,000 15,000
OA& &l S XYl 6,600
—XNESYUAN HEI RANES 1,500,000 1,500
—HAMANEZZOY SAES 1,100,000 1,100
— HEEHE BIMALE RS> 4,000,000 4,000
202 (4] 7,680 6,720 960
01 2L Y| 7,680 6,720 960
OFAHLR 20,000 * 49 x 42 x 12& 3,840
OHLAR 20,000 * 49 x 4 x 12& 3,840
203 & R =&H| 3,000 2,790 210
03 Al F=X SR =AH| 3,000 2,790 210
OFAH - 248 gRFA 3,000,000 3,000
206 M= Hl 10,000 10,000 0
01 X2 bl 10,000 10,000 0
OZHEHs =8 NFEME 2 10,000,000 10,000
207 A O 4| 8,000 0 8,000
02 & AHJH EHH] 8,000 0 8,000
OHAEEBZIMAIAE 2= 8,000,000 8,000
OFMGS D IS a2 (LSS /LT ) 1,426,232 1,526,342 A 100,110
< 10,182
= 1,416,050
=225 Mak 22| 1,426,232 1,526,342 A 100,110
T 10,182
= 1,416,050
HAN S sRHA=S 22 1,369,050 1,285,500 83,550
201 LEt2 Y| 842,250 868,500 N 26,250
01 AR 22| I 137,689 240,760 A 103,071
Ot 137,689
— EHA2e A2F 20,000,000 20,000
—SI&EA ABRE 15,000,000 15,000
—MYIIBSHHSE 7,000,000 7,000
—2XJEH Y AS 5,000,000 5,000
—HAgS U 283, Y2y HA
10,000,000 10,000
— 22,935 JHMSEE ¥ 2+
10,000,000 10,000
— ZAMSEA UM AHE
25,000 * 480H = 12& 14,400




SA: AR D
Hu: olFG

el ISR M 22 (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
— EAMSHEA "4 22l 8,800 x 2300 *12& 2,429
—AYANY SNES U 250 7Y
6,500,000 6,500
—HOIGEAN S4B (FAL BTH)
1,500,000 = 12E 18,000
—AHBANEEEH =2 750,000 = 122 9,000
— Zeldl (ZA}H) 11,000,000 11,000
— 2SS Z(2A) 80,000 » 30 A * 128 2,880
—SAdHMHAHABA =22 (AL
300,000 * 23] 600
—SAINVHEY 4B (UYB2D HA)
340,000 = 12& 4,080
— RBHI =2 (JIALHIIA)
150,000 * 12& 1,800
02 =224l 704,561
032323 2 HA 427,050
— 3 M 240,000
L3 18,000,000 = 12& 216,000
=ER= 2,000,000 = 12& 24,000
— ZAE 2 JIAFOHOI A 10,800
HdIIRs 500,000 = 12& 6,000
=ER= 400,000 = 12& 4,800
—dFFE 2 36,000
I3 3,000,000 = 12& 36,000
—ANEEZNE2Y 3 1,500,000 * 23l 3,000
— 23, g .22 3l 250,000 * 13l 250
—2A2 - N2 MAH=E2SHalbI
56,000,000 56,000
— XS HdSH S I (60H) 14,000,000 14,000
—ZXSEil oSN 2l 66,000,000 66,000
— A EIIE I Z A 1,000,000 1,000
O =ZHl 133,511
—=2 2 ZAM 133,511
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201 L2l 25,000 25,000 0
01 At 22/l 25,000 25,000 0
O el 25,000
—MMEESZ =HA=SF HEH 250 * 60,00004 15,000
—HJIZ ZcE 222 MH 10,000, 000 10,000
401 Al HI L 2 THHI 3,000 3,000 0
01 A& HI 3,000 3,000 0
omMags 2el=Hg &X 300,000 » 1042 3,000
SEMHHE =HZd3 9,900 15,000 A5,100
< 3,960
[ia 5,940
301 et A=z 9,900 15,000 25,100
< 3,960
[ia 5,940
MIIEE43 9,900 15,000 25,100
SEHHE=NEAS 9,900,000 9,900
< 3,960
i 5,940
Us&H 22 26,747 25,261 1,486
101 1A Hl 14,547 13,061 1,486
04 JIZHHZ2XNHESE S+ 14,547 13,061 1,486
OUs=&H 22 14,547
—oRA(FFY, A2 ZEF)
41,680 » 1989 » 252 » 128 12,504
—BES (28 - &) 12,504,000 * 10.0% 1,251
— 2HAlH| 3,000 » 198 = 22 = 128 792
201 LBH2E| 12,200 12,200 0
01 At 2t 2l 8,400 8,400 0
Oger==gH| 2,400
- U=sZ3H 298 23 ¢ 200,000 = 12& 2,400
ogdxz 6,000




2AM: 2F
FM: HIIE Mel ¥ UNFsH(S#FES/HIIS)

S HIl22 UHEst (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—UsdE &It iz 500,000 » 12& 6,000
02 =24l 3,800 3,800 0
O=323<HA 1,800
—dIIRa 40,000 » 128 480
— 4ot R3 30,000 = 128 360
—dg - SRS 80,000 » 12& 960
Ozl 2,000
-—232) 22 2,000,000 2,000
SZEHHE HMelAtg 990 1,500 A510
= 990
301 L2 A= 990 1,500 A 510
= 990
11IIEtEA S 990 1,500 A510
OsZHHIEH™elAtS 990,000 990
= 990
A E=sHH 29 3,444,361 3,564,366 A 120,005
A& dH 29 91,498 0 91,498
101 @14l 16,898 0 16,898
04 JI12ZtHZ22 a2+ 16,898 0 16,898
OFAZE oY 16,198
—oIRel(A2Y EE)
41,680 » 18 » 28 » 128 14,005
—S8= 14,005,000 * 10.0% 1,401
— 2hAlH| 3,000 » 1H » 22  12&8 792
OJIZtMZ2=2 X 1l =4l 200,000 = 1H 200
OJIZHZ22X A2HH 500,000 = 1H 500
201 Let24d] 72,550 0 72,550
01 At 22/l 37,700 0 37,700
O+t 8,800
— Y 2EEE 7Y
100,000 * 12& 1,200
~NREBME EES MA
1,000,000 * 23] 2,000
—gxg 3327 100,000 * 23l 200
— =Sl AEUWRE &5
150,000 = 12& 1,800
—AYHAAMN =2 3,000,000 * 14! 3,000
—Adgs A2 50,000 = 12& 600
o=z2g=¢ 24,900
— g3 24,100
=2l 50,000 » 18 * 365¥ 18,250
2 A | 50,000 » 1989 = 117 5,850
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SN B
HaM: HIIS Ml & XN (SFFES/HIIS)
Sl GREHME 29 (B9 ®R)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
—JI2ZtH 22X S2HA A Xt
,000,000& = 12& 36,000
02 3324t 45,050 71,500 N 26,450
OZ22Z22=22 Al 650
—XAHX BEEgE2E= 500,000 = 1CH 500
— XAHX BIEAE 150,000 = 1CH 150
OH =l 5,000
—HESHEHR 5,000,000 * 1002 5,000
OA&E &Y KX 24,000
—MEsSHEd SA2E 20,000,000 20,000
—2Z JHRR(F2A, 2Y) WEt
1,000,000 1,000
—2HMA=I| L AEIES 2SI RA22
1,000,000 » 3CH 3,000
(@PNE=FaR=la:] 15,400
— XA X+ 7,700,000 = 2CH 15,400
206 M = Hl 9,400 9,400 0
01 X2 bl 9,400 9,400 0
OEZE+7¢Y 450,000 * 12& 5,400
AFI HEgEdZ2SH 2,000,000 * 2& 4,000
401 Al HI YL 2 0HHI 40,000 394,741 N 354,741
01 A& HI 40,000 394,741 N 354,741
OZ2Z2MEsHEANd A2 40,000,000 40,000
HOIZMWEX 24 629,312 801,600 N 172,288
101 @121l 42,252 24,854 17,398
04 JI2ZtHI 22 XNSEE % 42 252 24,854 17,398
ON&EZY 2 o=y 24,654
— IR (AN, FRAY TH)
67,570 » 14 = 282 » 12& 22,704
— 28 2(1D2 - &) 22,703,520 * 5.1% 1,158
— 2HALH] 3,000 = 1 » 222 x 12& 792
OHZzU=2g o2 16,198
— QI (Al 2tQ L&)
41,680 » 18 = 282 « 128 14,005
—B&8= 14,005,000 * 10.0% 1,401
— 2HANH] 3,000 * 19 = 222 = 12& 792
OJI2tM 22 X 1l =4l 200,000 = 29H 400
OJI2ZtMZ2E X A2H & 500,000& = 29¥ 1,000
201 Yet2 | 112,760 140,046 ~27,286
01 At 22l bl 53,920 68,886 AN 14,966
Ogst=2H| 50,920




2N
X ZH -
L= B

el

K- B8 S2(3H) - HSAY - B2 o A o SSa H RS2
—ANESSHEXN EXLIEBA =222
4,500,000 * 204 A 9,000
—OHEX =H & IA =22 22,480
Kot 8, &&=+ 2
160,000 * 109H A ~ 12& 19,200
- XISkt XM= 1, L2SHH= 1
160,000 * 20 & * 42 D] 1,280
K E=S 2, SAIEA 3
100,000 * 5K & * 42| 2,000
— &&= X Healdl 10,000 * 60& 600
— X H=&g 3,000,000 * 33 9,000
—HEAE 2222 7Y 100,000 * 12& 1,200
—H=M A 12,0008 * 420& 5,040
—H&ER =™ 100,000& * 36 3,600
ogxs 3,000
—s==7 Uiz 3,000,000 3,000
02 35244l 58,840 71,160 N 12,320
OZ22Z2LHA 4,180
—ZEEEs 1,900
=224 700,000 = 1CH 700
-HEIE2(EZEH) 1,200,000 * 1CH 1,200
—8J|ZAE 200
Exawll 100,000 * 1CH 100
e (5ZE™) 100,000 = 1CH 100
— XS XA 200,000 = 2CH 400
—AEEZ HEX I3
140,000& * 128 1,680
OH ZHl 5,000
— I - LFAE &H 5,000,000 * 100 A 5,000
OA&&EH X 19,500
—&dE&XH2AE JlHs A2 4,000,000 4,000
— NEAE RX 22 500,000 500
—2CH OHEX =SEBZ X2
4,000,000 4,000
—HZ2AE |2 4,000,000 4,000
— Ot - SAIE JIAHSF K 22 5,000,000 5,000
—2F JHRR(FEA, 2Y) WE
2,000,000 2,000
(@PNE=FaR=1a:] 30,160
— = 4| 16,500,000 * 1CH 16,500
—Hgals(dTEy) 13,660,000 = 1CH 13,660
206 M = Hl 44,300 41,700 2,600
01 & bl 44,300 41,700 2,600
ollglez gloxd 280 2¢ 5,000,000 5,000




SN B
HaM: HIIS Ml & XN (SFFES/HIIS)
ool RA=BUE 2 CER-ED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
OASAE(&EH) 40,000 * 22l & * 903 7,200
oax &xH 50,000 = 50E 2,500
O=2EM 30,000 * 600CH 18,000
OM&g gstz2s 7 10,000 * 600X 6,000
OgsMY Il HgdZEsH 2,000,000 » 1E 2,000
Og=MY I TEHEE 60,000 = 302 1,800
OE2+7Y 150,000 = 12& 1,800
401 Al HI L £ 0HHI 430,000 580,000 A 150,000
01 A& HI 430,000 580,000 A 150,000
OHJIZ20HE X S X2l 30,000,000 30,000
OXNE=stdyH BEUHAIE X EX0OH% 400,000
MEHIIS MM AL (MBT) 2 2,122,734 1,817,960 304,774
201 et A | 601,960 482,960 119,000
01 At 22l bl 1,960 2,960 A 1,000
osg9+4 1,960
—HIISH2AEFHNSFUAXNE2AM 3
O|&EAM & 70,000 * 7Y x 43| 1,960
02 33249l 600,000 480,000 120,000
OZ2Z22Y A 600,000
—MIR22 50,000,000 = 12& 600,000
307 212t01 & 1,520,774 1,330,000 190,774
05 It E = 1,520,774 1,330,000 190,774
OMEHIIS HX2IAAE(MT) FIE2HAS
1,520,774,000 1,520,774
BHSYAY (YD) (IIEH/IIEH) 58,372 67,386 £9,014
Jl2A4 (A3 58,372 67,386 N9,014
JlE23Hl 58,372 67,386 AN9,014
201 Yet2 | 35,362 35,362 0
01 AtR 22l bl 35,362 35,362 0
Ogst=2H| 30,562
— S AMEX(AL) 25,300 * 128tA « 12& 3,644
— A=Y L HHAEE 2,000,000 2,000
— XS AI| S X2l 3,390
EUIECI X 220,000 * 30 = 43 2,640
S A =2l 250,000 ~ 3CH 750
— T2l SX22 13,510
cEHIECIKX 338,000 = 10CH * 23] 6,760
- EUIERIRI (22
400,000 = 5CH = 33 6,000
TelE =2l 50,000 = 15CH 750
— A Bl 114,500 » 20§ » 23] 458




2M: 83
X E: BHE
L= B

HY 2L (2 ) (OIEH/IIE
Sl D= (D) (S &2)
. SfE|
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—d22) A5 13,000 = 1004 * 123 1,560
—SZ2adE A WA 120 » 53 = 1,0000H 600
—ESZ2adHA R 7Y 100,000 = 108 1,000
—JI2NRES 4,400,000 4,400
O=gtl 4,800
— A2 2X E20H4lHI 4,800,000 4,800
202 O4dl 16,560 25,344 AB,784
01 = LH 4 Hi 16,560 25,344 AB,784
OgRFAIN=ZH
120,000 * 23" * 12& * 50% 16,560
203 YR =&l 4,200 4,200 0
04 FENSELR=LH| 4,200 4,200 0
ORNSYYRFAHI (&2 0) 350,000 = 128 4,200
405 XHoHF S HI 2,250 2,480 A 230
01 AL EZFH S 2,250 2,480 A 230
O Xt 180,000 * 5JH 900
O &t 1,350
— &= 250,000 = 34 750
— B 200,000 = 37K 600
HRas (a2l (83285 /462 - =4) 1,808,059 2,033,197 N 225,138
WEAHH XS (2Z 1) 1,807,059 2,032,697 N 225,638
LHEHeHXI & 1,807,059 2,032,697 N 225,638
701 JIEISI AN E S 443,000 321,000 122,000
01 JIEtZIHEES 443,000 321,000 122,000
O=ZIHESEAH HE 443,000
—sFQAsTRe O/HHI B
15,000, 000 15,000
—SZESFHFFHLU(DIHSH M X&)
ZH R2E3 428,000,000 428,000
702 JISEEZS 69,396 125,343 A 55,947
0MNII3dEEZ 69,396 125,343 A B5,947
OHJISXelAld =X FUXRAIS &
= 69,396,000 69,396
705 ==& cl 34 1,294,663 1,336,354 A41,691
o=z 4as 1,191,190 1,191,190 0
OHJIIZ2H 4EI/\|“(MBT) X SIS 8
A 2248 (2010,2011) 1,191,190, 000 1,191,190
02 Ol === 0l Kt & & 103,473 145,164 A41,691
OHJISEMelAIZ(MBT)EX Sgg2e2I2 8
Xt Ol Xt4f&H(2010,2011) 103,473,000 103,473
SHXNE 1,000 500 500
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> A
A & 0l & AF 2 E A A
20148 &= =0lah LB &
SRR}
Ha: MY MRS (SHHSSM/YY - ME
ool MEXRTA EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=iy 8,264,106 10,421,656 A2,157,550
= 1,795,468
& 1,609,460
< 440,789
s 4,418,389
e RS (sl Ysa/dYy - AE 5,971,087 8,300,400 A2,329,313
= 1,424,934
& 1,593,460
< 248,654
fia 2,704,039
METUGEEH 2,294,608 2,014,144 280,464
= 1,200,580
< 225,555
[ia 868,473
M (Z2HI) 185,743 211,687 N 25,944
= 105,239
< 10,985
s 69,519
201 £B-2dH| 3,000 3,000 0
= 1,683
< 107
s 1,210
01 At 22l 3,000 3,000 0
A= 3,000
—E=E2s Mg 3,000,000 3,000
= 1,683
< 107
s 1,210
401 AIEHIZL 2 CHEI 182,743 208,687 A 25,944
= 103,556
< 10,878
s 68,309
01 A& tI 162,703 206,687 A 43,984
OXEAY 162,703
— 2L% Z=&(3ha) 28,720,000 28,720
= 14,360
< 4,308
s 10,052
—d M= =& (72ha) 133,983,000 133,983
= 75,168
< 4,766
i 54,049
02 2feldl 20,040 0 20,040
OZ M= 2el(72ha) 20,040,000 20,040
= 14,028
< 1,804
s 4,208
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5,000,000

5,000
5,000

5,000

0
J2
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Moo

1,091,746

545,873
109,175
436,698

1,003,871

AN2,125

401 Al HI 2 2 OHHI

MR

828,590
414,295

82,859
331,436

895,378

66,788

01 Al&H
O

Hz= 30|
Lt JF3J](300ha)

Fw J”

— {22 JF3J1(50ha)

& Ate (130ha)

|
>z
Mo

— X2 X2t | (250ha)

02

|:|\J

te
OX = 2 It 3] (450ha)

=

03 AIE 2 THHI
= IR ALY (750ha)

398,710,000

48,750,000

120,380,000

225,750,000

30,000,000

5,000,000

HOH MW M A

f i

Mo

793,590
793,590

398,710
199,355
39,871
169,484
48,750
24,375
4,875
19,500
120,380
60,190
12,038
48,162
225,750
112,875
22,575
90,300

30,000
30,000
15,000
3,000
12,000
5,000
5,000
2,500
500
2,000

825,378

60,000

10,000

A 31,788

A 30,000

A5,000

402 QIR0 A

W

263,156

131,578
26,316

198,493

64,663




SN S
Ha: MY R
Sl NYRREY EERED

r
tol
Ot
o
%
02
1>
x
~
0e
Q
x
i

SN - EAEA) - MRAL

01
o

Off &t 24

=

M
2Hm
==
£l
Ol
0y

HJ

105,262

S ARSI 263, 156 198,493 64,663
OF-EF-P/Ep] 263,156
— TH2l 2 € AL (150ha) 216,856,000 216,856
108,428
21,686
86,742
— &+2 47 (130ha) 46,300,000 46,300
23,150
4,630
18,520

RURL Y

Mo A

SEB0IAS=E 648,537 465,336 183,201
332,268
63,254
253,015

Mo A

S
e
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==

600,412 438,008 162,404
308,206
58,441
233,765

Mo

04012t Z22 s E+ 600,412 438,008 162,404
O&tgHoI2atE =& 549,852

— Q1A H[(40Y) 533,852,000 533,852
266,926
53,385
213,541
— W =H(40Y) 16,000,000 16,000
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O/ XA R AEH(3E) 50,560,000 50,560
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2N
X ZH -
L= B
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Ot
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1]

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

OA& &8l =Xl 10,000,000 10,000
2 5,000
< 1,000
s 4,000

202 (4 Hl 5,000 2,328 2,672
= 2,500
= 500
s 2,000

01 = LH YI 5,000 2,328 2,672
O&gdole dRF4 5,000,000 5,000
= 2,500
< 500
e 2,000

405 RHoHF S HI 3,000 3,000 0
= 1,500
= 300
i 1,200

01 AL EZFH S 3,000 3,000 0
Ottol=+=& Zdl =2 3,000,000 3,000
= 1,500
< 300
s 1,200

AEES M| BEY 358,082 123,750 234,332
= 217,200
= 42,141
s 98,741

402 RI2HXt20l M 358,082 123,750 234,332
= 217,200
< 42,141
s 98,741

01 IZERI 22X 358,082 123,750 234,332
Ozt EAME 4,275,000 4,275
= 3,325
< 285
e 665
OREX ELIH(1ha) 4,107,000 4,107
= 2,875
< 246
[ia 986
OdE=8& YK (20134) 115,200,000 115,200
= 72,000
= 12,960
e 30,240
Oug=aZ2 e (20144) 104,000,000 104,000
= 52,000
< 15,600
i 36,400
OMH RS MACR =4 130,500,000 130,500
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Q
x
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= _ — d =
K- ZE SR (3) - HRAY - BaS 0l &t o il HImEET
= 87,000
< 13,050
e 30,450
2o =4 2,500 79,500 ATT7,000
301 et d =S 2,500 2,500 0
09 HALAHIEA S 2,500 2,500 0
OLL=AHAHE &Il XA 2,500,000 2,500
SUHEH 1,001,179 1,685,964 A 684,785
= 30,000
= 203,000
[ia 768,179
= 33 AL 456,665 387,245 69,420
101 124l 203,065 166,925 36,140
04 JI2ZtH 22X E 203,065 166,925 36,140
OZZXZHMIFE 22 Y 203,065
— QI 1,680 = 6H * 100& * 7L 175,056
— 428 = 175,056,000 * 16% 28,009
201 Let24dy] 12,600 9,600 3,000
01 At 2teltl 10,600 5,600 5,000
Ogxtz 10,600
—ZZXLAMY ZFHIYXZ 400,000 = 1404 5,600
—Z22LAXHAMY otRA A=
1,000,000 * 5= 5,000
02 23=24gHl 2,000 4,000 A 2,000
OAl& &8I = Xd 2,000
— 22 X4 FHl | 2,000,000 2,000
203 YR =2t 4,000 3,720 280
03 AMBZFAHSF 4,000 3,720 280
odtd g2=& 4,000,000 4,000
206 M= Hl 107,000 107,000 0
01 =8l 107,000 107,000 0
OBLZH NS 22, BM S 7Y
500 = 200,000=2 100,000
OMM=L (% 2 208) 3,000,000 3,000
O&HlRFH 4,000,000 4,000
401 AIEHI L 2 CHYI 130,000 100,000 30,000
01 A& HI 130,000 100,000 30,000
OZ2H FAZTHONU, B0l S ATHAY)
10,000,000 * 5JH 2 50,000
OouU=R2d Hel=HAMEOIES)
50,000,000 = 1JH 2 50,000
OAZ¥ ZAAG(d=xal) 30,000,000 30,000




SRR}
Ha: MY RS (SHHSLM/AY - AE)
Sl =XBAES (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
stw = &4 60,000 60,000 0
= 30,000
e 30,000
401 Al HIZ 201 Y] 60,000 60,000 0
= 30,000
s 30,000
01 A& HI 59,000 59,000 0
Ost=x MY FI(AAX) 59,000,000 59,000
= 29,500
i 29,500
03 Al 2 0HHI 1,000 1,000 0
OStU=ZHAMY FA(AAX) 1,000,000 1,000
2 500
i 500
z+ 2el 78,514 78,719 A 205
101 14 Hl 43,514 43,719 A 205
04 JIZHHZ22XRHEES 43,514 43,719 A 205
OJt22telAtgy el 43,514
— QI H| 41,680 » 59 » 180¢ 37,512
— 428 = 37,512,000 * 16% 6,002
401 Al HIZ 201 8] 35,000 35,000 0
01 A& HI 30,000 30,000 0
Ot ZEAY =& 30,000
-2+ =4 ¢ AZ=2el 30,000,000 30,000
03 Al S THHI 5,000 5,000 0
Otz X4 & AZ=2e 5,000,000 5,000
MEEdm X4 406,000 1,050,000 A 644,000
= 203,000
s 203,000
401 AIEHI L 2 CHYI 406,000 1,048,000 A 642,000
2 203,000
[ia 203,000
01 A& HI 403,000 1,040,000 A 637,000
Quzstd=E X4 (2ha) 403,000,000 403,000
& 201,500
s 201,500
03 Al SR THHI 3,000 8,000 25,000
OME A= T4 (2ha) 3,000,000 3,000
& 1,500
[ia 1,500
MESAEIIEY 1,368,034 2,197,794 A 829,760
= 84,016
= 625,000
< 6,000
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Ha: MY RS (SHHSLM/AY - AE)
ool NYEYRIEY CER-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
o 653,018
SMEMEA B 28,004 27,930 74
= 14,002
s 14,002
101 1244 dl 28,004 27,930 74
= 14,002
e 14,002
4 JI2ZHHZ2Z2XREES 28,004 27,930 74
OZAl=X2eld (1) 14,002,000 14,002
= 7,001
s 7,001
Ostu=3CIUIO0IE (1Y) 14,002,000 14,002
= 7,001
e 7,001
AHAFAE 22 70,000 100,000 A 30,000
401 Al& Bl 28I 70,000 100,000 A 30,000
01 A& HI 70,000 100,000 A 30,000
OZSARAF LS AL S A 70,000,000 70,000
MEME - 25 HE ST 930,000 1,916,000 986,000
2 465,000
s 465,000
401 Al BIZ 201 8] 930,000 1,916,000 986,000
& 465,000
i 465,000
01 A& HI 930,000 1,866,000 A936,000
Ot MEHE3 MEHX =4 930,000, 000 930,000
& 465,000
s 465,000
SMEAMEIAER0I 140,030 153,864 A 13,834
= 70,014
i 70,016
101 @124 4] 110,024 138,876 AN 28,852
= 55,012
s 55,012
04 JIZHHZ22XNHSE+ 110,024 138,876 N 28,852
O=dl&IH(2Y) 26,006,000 26,006
= 13,003
i 13,003
O=xef2elel(2y) 28,006,000 28,006
= 14,003
s 14,003
O=2ZMEXZAH(1Y) 14,003, 000 14,003
= 7,001
e 7,002
OMEZ2YILIM(3Y) 42,009,000 42,009
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401 AIEHIZ 2 I

M HooR

200,000
160,000
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34,000
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01 A& dl

O=MH2aMEF LAY

03 A2 2 THHI

OSMEsMEHE LA

198,560,000

1,440,000

M H1ooR
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685,460
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A 643,348
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15,600
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15,600
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M of A o

A o

937,630
937,630

433,662
303,563
130,099
392,789

274,952
117,837

66,179
46,325
19,854
45,000
31,500
13,500
21,000
21,000
14,700

6,300

5,000

5,000

3,500
1,500

1,573,646

28,332

5,000

A636,016

ANT,332

5,000

5,000

5,000

5,000

5,000,000

5,000
5,000
5,000

5,000

MHoH O

323,036

110,338
80,000
17,099

115,599

774,920

N451,884
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[
THo
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MR

136,496
79,498
17,099
39,899

92,000

44,496

402 212t A= 01 &

Mo A

136,496
79,498
17,099
39,899

92,000

44,496

01 IZtXt=28 =

62,500,000

H

136,496
62,500
31,250

92,000

44,496




SH: D
Ha: MY RS (SHHSLM/AY - AE)
ool MEASAY EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
[ 9,375
- 21,875
OYAMSIZ2X & 6,496,000 6,496
= 3,248
= 974
= 2,274
OUMSAES}-HEBAHE 67,500,000 67,500
= 45,000
& 6,750
= 15,750
2022 XS 162,220 85,600 76,620
= 30,840
2 80,000
= 51,380
202 04| 3,000 0 3,000
= 3,000
01 2Ll 3,000 0 3,000
OSTHMAY H=EHR FX 3,000,000 3,000
= 3,000
402 SI2vXHE0| ™ 159,220 85,600 73,620
= 27,840
2 80,000
= 51,380
01 QIZ2tXE8 X 159,220 85,600 73,620
OTaigay XA 59,220
—delgay EEX 41 N (=eHE 184)
59,220,000 59,220
= 27,840
= 31,380
OSMEGHE AIE&H 2t 100,000,000 100,000
2 80,000
= 20,000
AMESEX A (FH]) 24,320 24,320 0
202 044 4,320 4,320 0
01 2L Y| 4,320 4,320 0
ONESEASAIYE =& 120,000 * 3¥ x 128 4,320
402 SI2FXH=20| ™ 20,000 20,000 0
01 QI2t X2 X 20,000 20,000 0
QUAS (D2 A LM)IXTY X
50,000,000 * 40% 20,000
A2l THOH BRI K| (s ol LAt/ - ALE) 2,142,831 1,976,586 166,245
= 370,534
2 16,000
o 192,135
= 1,564,162
MBS 1,725,332 1,376,631 348,701
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el MEES (el @2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 370,534
< 186,276
e 1,168,522
AS X (=24]) 465,327 297,276 168,051
= 186,131
< 55,839
= 223,357
101 @124 dl 278,067 219,315 58,752
= 111,227
< 33,368
e 133,472
4 DIt ZE2EXREES 278,067 219,315 58,752
OU=E20 L XS (37Y) 233,100,000 233,100
= 93,240
< 27,972
s 111,888
Ot=dZHgrs EE=2(37Y)
39,697,000 39,697
= 15,879
< 4,764
s 19,054
Oulgas =&+ 1,000,000 1,000
= 400
< 120
[ia 480
(OF—FaeIgelli= BMES, 4,270,000 4,270
= 1,708
< 512
= 2,050
201 £B-2dH| 59,519 63,020 A 3,501
= 23,808
< 7,142
= 28,569
01 At 22l 44,200 47,700 A 3,500
OgEer2dHl 15,000
— el & st &I 500,000 = 30MI E 15,000
= 6,000
< 1,800
s 7,200
O= &l 2,400
— &= e g Al 6,000 = 400 2,400
= 960
< 288
[ia 1,152
o1l =l 14,800
—MESEXNSAE Z22= 400,000 » 37 14,800
= 5,920
= 1,776
[ia 7,104
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2= % HAl 7,800
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401 AIEHIZ 2 I 72,741 12,741 60,000
29,096
8,729
34,916

HoH

01 A& dl 72,741 12,741 60,000

O&= &R 01232 =4 4,247,000 = 3ha 12,741
5,096
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OSelZAlZtoct w Xl 60,000,000 60,000
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Mo R
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25,440
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[ 226
- K24
01 JHAY =2 E F S H 1,500 750 750
OJIAES 750,000 * 1CH 750
= 375
& 113
= 262
O ZD| 750,000 = 1CH 750
= 375
= 113
= 262
SYUXIMHR () 340,000 400,000 A 60,000
= 102,000
= 238,000
et AY| 340,000 400,000 A 60,000
& 102,000
= 238,000
01 AP 2t 2] H| 340,000 400,000 A 60,000
OgtL2H| 40,000
—SX™A SEREHI( 10,000, 000 10,000
& 3,000
o 7,000
— 2SS AEXSHEH XK (1,000&)
30,000,000 30,000
= 9,000
o 21,000
OYxz 300,000
— A= &G ] 300,000,000 300,000
& 90,000
= 210,000
I, K CH& (2H) 514,220 462,520 51,700
ol d| 315,520 263,220 52,300
04 JI2ZtHIZ22ANEE 315,520 263,220 52,300
Ot 2ZAl & Xgtol 315,520
i ralsl 42,000 *» 40 = 150 252,000
—AEE = 252,000,000 * 16% 40,320
— IS 70,000 » 409 2,800
— 854 XN 3,400 *~ 409¥ 150 20,400
201 2Et24Hy| 196,700 197,300 A 600
01 AP 22| d| 187,100 187,100 0
Ogt4=2H| 30,000
—NNEEEE N 30,000,000 30,000
On=ul 2,100
—MEXNS=E 2Y 70,000 » 309 2,100
O3 &l 5,000
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= 13,268
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308 MXISHMSOIA 14,146 190,683 AN 176,537
05 RRSHH2AESZ 14,146 190,683 N 176,537
OAMEAMNY 22 14,146,000 14,146
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& 727
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SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
—FXE JdIe3 250,000 » 12& 3,000
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OAlZ223 MESHAH(EIZ, BI=ER)
10,000,000 10,000
OdSGE AFZ &g A 3,000,000 3,000
205 2|3/ d| 365,223 375,662 A 10,439
01 & &S| 92,400 92,400 0
O3y & st 1,100,000 = 7H * 12& 92,400
02 28 134,400 134,400 0
Ogd+Y 1,600,000 * 7 = 12& 134,400
03 22 =0t 15,120 25,620 A 10,500
OEtAZ AE 90,000 *» 798 x 32 x 63 11,340
OAMOILL ¥ nE &AM
90,000 * 7Y x 3 x 23] 3,780
04 2| & =2/ 0{H| 18,200 18,200 0
Odlle A= (7H) 14,000
-9, 2% 2,500,000 * 29 5,000
— o & 1,800,000 = 5H 9,000
O=2 04l =Jt&Hbl 14,000,000 * 30% 4,200
05 E2HESE &I 39,600 39,600 0
OF=2=F:):] 4,800,000 = 7H 33,600




AN 23 AS D

o MUo®, AN TH(LBNBTUI/YYLH I B)

& Xges 29 X (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Ol BLUES AR Z 1,000,000 = 6% 6,000
06 232 PR =& 44,040 44,040 0
O 2,480,000 » 128 29,760
Of9H 1,190,000 * 12& 14,280
07 AEHEAMEE S 11,200 11,200 0
OdIAZ3 2 EE 3 4,000,000 4,000
OZINEANZAYEEAS 1,200,000 1,200
OAIAEANZAEE S 6,000
—ZIERANZAEE S 3,600,000 3,600
—dISREANZAEE 23 2,400,000 2,400
08 AIDAZIEE S 6,048 6,048 0
OYaAILUHS2E S 134,400,000 * 4.5% 6,048
09 AU AHLRES 4,215 4,154 61
OoIAIUAHLREE S 4,215
—AdZBE= 134,400,000 * 2.945% 3,959
— oI RAEBEZ 3,898,000 * 6.55% 256
301 et a3 800 800 0
1MIIEESS 800 800 0
OHASSY ZOEA HILA
40,000 * 10¥ = 23l 800
ol3 WA 8,500 8,500 0
201 Let24d] 8,500 8,500 0
01 At 2teltl 8,500 8,500 0
OfAE n=H| 7,000
— N3 A NS &It
500,000 » 4% * 23] 4,000
— X3 /A& u= 500,000 » 3% * 23] 3,000
o=2g=¢ 1,500
— 93 MMu=s 500,000 * 33l 1,500
o529 LHas 171,996 149,230 22,766
201 L2l 126,386 102,250 24,136
01 At 22l 69,320 60, 140 9,180
Oger==gH| 69,320
— oA, RO 24H 200,000 = 12& 2,400
— o 2g 200,000 = 12& 2,400
—M2(ELX) 2S= 15,000 » 95 * 12€ 1,620
—MEB(NEX) As=
10,000 » 148 = 128 » 2% 3,360
—M2(XNYX) 2s&
5,000 » 38 ~ 128 » 2% 360
— AF&I QI SHH| 1,000 » 45 * 25004 1,000
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Sel: NWols 2y N (ol @)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
—=3FE o ¢ 4,000 * 1504 600
-0V HOolZ ¢ 8,000 * 854 680
—olgl&d 24X RS
100,000 * 2& * 2% 400
—o¥Es TN ¢ 50,000 * 158 * 2% 1,500
— 282 2 HHEEY =5 150,000 » 12& 1,800
— 0l & K2 HZA 100,000 * 55 * 23] 1,000
— &FE MIE 25,000 * 2005 5,000
— B4 Y LA R
100,000 * 5 * 23| 1,000
— T (ROT)M BT N
100,000 = 24! 200
— 932 JEE M 30,000 * 200 6,000
—1NEEZ2 JIE 2 100,000 = 504 500
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— H7C W& 23 #2223 LM 7,500,000 7,500
02 3524t 57,066 42,110 14,956
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—BlO= U AAT BHR(HHH)
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—SUHE AE2 60,000 508 ~ 12& 3,600
— oA 2HIY EE 70,000 = 1CH = 12& 840
- ANSIEE 600,000 » 3CH 1,800
— Xt = XAl 400,000 = 3CH 1,200
OAlI& &Hl KXYl 48,556
— 8 SEH RAEF 22,000,000 22,000
— 823 AMAE R
1,713,000 » 12& 20,556
— M7 ¥ EHOIXN FANEx 6,000,000 6,000
202 04d| 7,560 7,560 0
01 2L Y| 7,560 7,560 0
QEtAIZ (2 g]) #ixI0oH
70,000 * 6Y * 3Y x 63 7,560
203 YR =&Y 14,000 13,020 980
03 A =X SR =XIH| 14,000 13,020 980
Ooa8es & 7,000,000 7,000
OLMadg =& 7,000,000 7,000
401 Al HI 2L 2 0HHI 21,700 14,400 7,300
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Odg I (oA 2o S) &X
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405 RHoHF S HI 2,350 12,000 A 9,650
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Oo &4 MR g 470,000 * 5K 2,350
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o3 JIEE M 50,000 39,000 11,000
201 LBt 50,000 39,000 11,000
01 At 22l 50,000 39,000 11,000
Oget=&H| 50,000
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—SIEAATX HH 12,000 = 5005 6,000
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— SAEX P (M) 25,300 » 804 Xt 2,024
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A
M A MH A MAM MD(BAHAAZAHA D) (EA/EHZ)
Sl BAWN U ADHHIA I T4 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
— 824 HZH|(YWiteh) 40,000,000 40,000
— S -9 BAIA H2H|(BY2, A, G
2) 2,000,000 * 502 10,000
OXtgH ] 27,700
= 4,000,000 = 1CH 4,000
—dHEHA 1,500,000 = 1CH 1,500
— A83I=2 3,000,000 = 2CH 6,000
—dsEgeeEH) 2,700,000 *~ 6CH 16,200
OAN&EZH KXY 74,000
—AHELXHMSXH(EHA HEH, X A)
35,000,000 35,000
— 9z, $HAEH S KA 15,000,000 15,000
—C0XE g Ha AAE RAE4H|
24,000,000 24,000
202 o4 | 20,880 20,880 0
01 2L I 20,880 20,880 0
OZ2FTEHYA 22X S b
80,000 » 18Y¥ = 12& 17,280
OZ2FEHYA E4n= 4H] 200,000 » 18H 3,600
203 € R =& 4,000 3,720 280
03 AIZH =X H 2 F X H| 4,000 3,720 280
OBHHEL2 =& 4,000,000 4,000
sHE9 2 AU AMNM 225,655 0 225,655
= 137,100
=} 20,566
= 67,989
405 XHoHFE S HI 225,655 0 225,655
= 137,100
& 20,566
o 67,989
01 XA E B F S| 225,655 0 225,655
OBZAHA Xsstsd A 2
95,000,000 * 1CH 95,000
= 50,000
= 7,500
= 37,500
OBZAXN A XWEHHE 7
20,000,000 * 34 60,000
= 39,999
o= 6,000
= 14,001
OBZAHAES A o= &Hl 2 70,655,000 ~ 14! 70,655
= 47,101
& 7,066
= 16,488
232H9 )| 24 34,685 66,234 A 31,549




SN HH-S(BN) - MBAY - B il HlnE2
401 Al I 28I 14,500 40,600 A 26,100
01 A& HI 14,500 40,600 A 26,100

Odz=) 22 HM&23A 8,000,000 8,000
UXR2ZAXS A ZO X Ol (44m)
6,500,000 6,500
405 XHoHE S HI 20,185 25,634 A5,449
01 AL EFH S 20,185 25,634 A5,449
OSgHEAIA X A=zFH s 7€
5,000,000 5,000
OctHE AKX & AH-lY 2 1,000,000 1,000
O2UAEE 53| FAU(BEAXL)
400,000 = 504 2,000
OANRE8 217 7Y 2,280
—O|X}, MA(RAA, XA HEL)
2,280,000 2,280
OttReldEA YHED 78(322)
460,000 = 1CH 460
Odeld sl=28 &I 1,045,000 1,045
Od&éza FFH, 2LH LA 5,200
—ZEH(QUEH =8 1,240,000 * 4CH 4,960
— W™ DLIE (202 XI) 240,000 * 1CH 240
OLE=S FU(LEREAHE) 1,200,000 » 1CH 1,200
Oa3daga ARSI 2L 2,000,000 2,000

= A B 170,300 170,100 200
307 gl2tol & 170,300 170,100 200
01 =LA =4l 170,300 170,100 200

OXUEZ2I7 & A28 ¢
400,000 * 40 = 23] 3,200
Oster JIXNM 2 (&, &, 28 )
2,000,000 * 33l 6,000
Oo=2cxzd JIXNM 2 2285 74
30,000 = 10& = 128 3,600
OWgdE=E JINMM ¢ 50,000 *» 108 * 43| 2,000
OgEssEzrY(d2g 2 55)
40,000,000 40,000
Ostgdlgds 2 10,000,000 10,000
OZAAIY L MHWERL(LEXLHAL 3F)
60,000,000 60,000
OEARX 2 44,000
— gl EsE £y 40,000, 000 40,000
— 2280z Y 4,000,000 4,000
OoAZXNEAE & 2EF 1,500,000 1,500
U HHAZ2 XA 1,875 1,330 545
| 1,312




SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
& 563
307 212t0| & 1,875 1,330 545
Jl 1,312
& 563
05 It E = 1,875 1,330 545
OX <= Ct2 DMAT W =Hl K& 1,875,000 1,875
Jl 1,312
= 563
FEXNSE S3dZ 0|2 F 62,000 0 62,000
Jl 62,000
307 212t0| & 62,000 0 62,000
Dl 62,000
02 QI2t3 A8 X2 62,000 0 62,000
OFAXNY 23292 J& 4 62,000,000 62,000
Jl 62,000
BAHMHEHH A XNR(BHI2A) 316,815 409,915 A 93,100
201 Bt A H| 196,815 209,915 A 13,100
01 AtR 22l bl 57,780 64,580 6,800
Ogdet+=gH| 54,780
—ANREsE 7Y 200,000 * 15J0 2 3,000
-4 F2¢ 400,000 * 150 2 6,000
—SHHSE 7Y 100,000 * 1501 A& 1,500
—2Xs HEaEX 200,000 * 15J0 2 3,000
—03AsE TN P2 240,000 * 15J0 2 3,600
—ol=XelAlE 2282l
110,000 =128 » 9 A& 11,880
— 201HH 84 110,000 = 128 * 1500 A& 19,800
— J|El =&H]| 400,000 * 1500 2 6,000
(@RTE==3] 1,500
—M=E(==x, ot&D]) 100,000 * 150 & 1,500
Oexs 1,500
—otEeBHIZA AU (BEAN AKEX
2 2L 1,500,000 1,500
02 3524l 139,035 145,335 A6,300
O332g%Htl 59,035
— HI|HEAA == 50,000 * 1500 A~ 750
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— 230 s8& 35,000 * 1500 A& 525
— T 2H| 30,000 * 1500 A& 450
- &I MAEE 150,000 = 12& = 15004 27,000
— Mol=E 22 100,000 * 5 A~ 500
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o/z)
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< 15,212
s 1,959,773
UEY d2AL 2 1,295,643 1,302,023 26,380
J| 27,877
= 1,267,766
LColXZHl NJAA 1,101,493 1,100, 389 1,104
101 @124l 13,893 12,789 1,104
M4 IR Z22NSES 13,893 12,789 1,104
Ozl XJ&el 2y 13,893
— I 41,680 = 1% = 250 10,420
- =5 41,680 = 1 » 53¢ 2,210
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201 et2 Y| 7,600 7,600 0
02 =224l 7,600 7,600 0
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— A Z el R 41,680 = 4% = 30 5,002
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OAl& & Hl s Xl 11,700
— 28 X 11,000
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- EEgsXg 2 3,000,000 3,000
&0 2 N1 3,000,000 3,000
— A G2 2 A X2
100,000 * 6CH 600
—WHIl =el 25,000 * 4CH 100
OXte & Byl 22,559
—AESE 4,500,000 = 2CH 9,000
—Ad"st= 5,253,000 * 1CH 5,253
—HAX 8,306,000 » 1CH 8,306
405 RHoHF S HI 7,500 0 7,500
01 AL EZFH S 7,500 0 7,500
O&T= AL 4,000,000 4,000
OHIOl Z23H 3,500,000 3,500
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01 A& HI 80,000 80,000 0
OARE JIEHAIE E= - B2 ZA
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03 A& 2 THHI 2,000 2,000 0
OAE JIBAIE E= - 22 Z A 2,000,000 2,000
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